0-1. B U ¢(w,y,2) = 322y — 322 TRIND L E, & (1,-2,-1) ITBT5 Vo 23K K.
(fi#)

Vo= (it gi+ k(e — o)
= 6xyi + (322 — 3y*22)j — 292k
At point(1, -2, —1), V¢ = —12i — 95 — 16k
0-2. ¢ =In[f| CRINBLE Vo 2kDX. ZZCTr=xi+yj+2k TH5.
(fi#)
\/m p=In|r| = 21n(x2+y2+z2)
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0-3. ¢ =223y TRIND L &, ROfE%EKD K. (1) VV (div gradg), (2)VVe = V3¢
55 ERYE.

(fi%)
(1) Vo = 6229?24 + 4ady2tj + 8239?25k
VV = 12zy22* + 2423y%2>

(2) VV6 = (3”3 +—k)(a—¢
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0-4. A = 22yi — 2xzj + 2yzk 725 & F curl curlA %R k.

(F#%)
ik
curl curlA =V x (V x A) = a% a% %

22y —2zz 2yz

=V x {2z + 22)i — (2® + 22)k}

0-5. ¢ =1/[F| LLT Vo kD&, T CTT=aityjtzk THB.



(fi#)
7 = Va2 + 2+ 22

gradgp =V¢o = —i * i c
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0-6. V2(1/|F)) = 0 %5 Z L 2FIE L. ZZTTF=aityj+zk TH5.
(fi#)

V2= (2 +92 + 22)73/2 +32%(2% + % + z2)75/2
f(x2+y2+22)73/2+3y2(z2+y2 +Z2)75/2
—(@® + 97 +2°) P32 (@ + P+ 2O
=3+ 7+ 2243+ + )@+ + )P =0
0-7. 5L A=azi —yzj +ayz TRIND L EN (1,-1,1) 1B 5 VA(divA) 23K X.

()

— o. 0. 0 . .
VA= (%z + a—yg + &k‘)(xzz —yzj + xyzk)

=z—z+ay=ay, VA1, -1,1)=-1

0-8. XDz FEHIHE &.

(1) V x (V@) = 0(curl gradp = 0), (2) V(V x A) =0 (div curl A = 0)



